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Topic:PRESSURE

I.Answerthefollowingquestions:
1.WhatistheSIunitofpressure?

ANS:TheSIunitofpressureisPascal(Pa)

2.Nametwoquantitiesthatdefinepressure?
ANS:ForceandAreaaretwoquantitiesthatdefinepressure.

3.Definepressure.
ANS:pressureistheforceactingonaunitareaoftheobject.

4.Giveexamplesfrom everydaylifewhichshowthatairexertspressure.
ANS:Applicationsofpressure

a.Whilecuttinganapple,weneedtousethesharpedgeoftheknife.Usingthe

bluntedgeofaknifeshallnotservethepurpose.Thebluntedgeoftheknife

haslargersurfaceareathanthesharpedge.Duetosmallersurfacearea;more

pressurecanbeappliedthroughthesharpedgeoftheknifeandsomething

canbeeasilycut.

b.Whileputtinganailintoawoodenboard,thepointedendofthenailiskept

atthefront.Thepointedendofthenailhasverysmallsurfaceareaandthis

enablesustoapplyagreaterpressurewiththeappliedforce.

5.Calculatethepressurewhenaforceof200Nisexertedonanareaof
(a)10m2and(b)5m2

ANS:(a)Aforceof200Nisappliedoveranareaof10m2

Force=200N,Area=10m2

Pressure=Force/Area=200/10

=20Pa.
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(b)Aforceof200Nisappliedoveranareaof5m2

Force=200N,Area=5m2

Pressure=Force/Area=200/5

=40Pa.

6.Aforceof25Nactsonanareaof25cm2.Calculatethepressureproduced.
ANS:Aforceof25Nisappliedoveranareaof25cm2.

TogetthepressureinPa,wehavetomakesurethattheforceisin

Newtonandtheareainm2heretheareaisincm2toconvertthisinto

m2 wehavetodividethegivenareaby10,000.(because1m=100cm )

mxm=100x100=10000

Force=25N
Area=25cm2=(25/10000)m2

Pressure=Force/Area=25/25×104=104Pa

7.Aforceof75Nactsonanareaof75cm2.Calculatethepressureproduced.
ANS:Aforceof75Nisappliedoveranareaof75cm2.

TogetthepressureinPa,wehavetomakesurethattheforceisin

Newtonandtheareainm2heretheareaisincm2toconvertthisinto

m2 wehavetodividethegivenareaby10,000.(because1m=100cm )

mxm=100x100=10000

Force=75N
Area=75cm2=(75/10000)m2

Pressure=Force/Area=75/75×104=104Pa


